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I.  Answer any two of the following questions : 14

(1) A company deals in three items A, B and C which are neitheér similar nor
interchangeable. At the time of closing of its accounts for the vear 2012-13, the
historical cost and net realisable value of the three items of elosing stock are
determined as follows :

Item Historical Cost Net Realisable

() Value (%)
A 4.,00,000 2.80,000
B 3,20.000 3,20,000
C 1.60,000 2.40,000

Calculate the value of closing stock as per Accounting Standard - 2.

(2) X Ltd. sold goods through its dealers. One of the conditions at the time of sale is
payment of consideration in 14 days and in the event of delay interest chargeable
at 15% p.a. The company has not realized interest from the dealers in the past.
However for the year ended 31-3-2013, it wants to recognize interest due on the
balances due from dealers. The amount is ascertained at ¥ 10,00.000. Decide
whether the income by way of interest from dealers is eligible for recognition as

per Accounting Standard — 9.

(3) M Lid. acquired fixed assets of ¥ 100 lakhs on which it received the grant of ¥ 10
lakhs. ‘What will be the cost of the fixed assets as per Accounting Standard — 12

and how it will be disclosed in the financial statements.

(4) An industry borrowed ¥ 40,00,000 for purchase of machinery on 1-6-2013.
Interest on loan is 9% per annum. The machinery was put to use from 1-1-2014.
Pass Journal Entry for the year ended 31-3-2014 to record borrowing cost of loan
as per Accounting Standard — 16.
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2. The Tral Balance of ABC Ltd. as on 31-3-2013 is as follows. Prepare Balance Sheet
and Notes forming parts of Balance Sheet as per Revised Schedule VI of The

Companies Act :

B Particulars . G
No. () (%)
(1} | Share Capital - 50,00,000
(2) | General Reserve - 5,30,608
(3) | Capital Reserve - 4.60.,000
(4) | Profit & Loss Afc. - 1,75,69,121
(5) | Term Loans from the Banks o 70,14,021
(6) | Provision for employee benefit

(short-tem) - 5.42,067
(7) | Cash credit with Bank - 1,53,18,301
(8) | Unsecured loans from directors - 1.09,31.476
(9) | Intercorporate Deposits - 11,68,246
(10) | Creditors 4 3,88,23,923
(11) | Provision for expenses - $8.72.354
(12) | Fixed Assets 4.72,48.101 -
(13) | Investment in shares of

Co-operative Bank 8,96.000 -
(14) | Loans & Advances (long term) 2242031 -
(15) | Inventory of Raw Material 60,79,329 -
(16) | Inventory of Finished Goods 5.65.054 -
(17) | Debtors 3,62,41,095 -
(18) | Cash on hand 5,40,226 -
(19) | Bank balance 7.93,494 -
(20) | Short-term Advances 78,34,360 -
(21) | Fixed Deposit with Bank 5,09.912 2
(22) | Loss during the year 28,040 -
(23) | Tax payable — 9,53,492
(24) | Car loan (for 3 years) - 32.94.033

10,29,77,642 | 10,29,77,642
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Additional Information :

(1) Authorised Share Capital of the company is T 75,00,000 which is comprised of
equity shares of ¥ 10 each. 5,00.000 equity shares were issued at par and fully

paid up.
(2) Share holding pattern of the company is
Mr. A — 70% General public - 26%
Mr. D — 4% (Where each share holder is holding less than 1% of

total shares)
(3) Instalment due against bank borrowing for next 12 months is € 18,54,768.

(4) Bank borrowing of term loan 15 at the interest rate of 13% per annum and 1s
secured by hypothecation of plant and machinery and personal guarantee of
director Mr. A,

(5) Cash credit facility i1s secured against hypothecation of stoek-in-trade and
debtors. The rate of interest i1s 12% per annum.

(6) Previous vear’s figures should be ignored.

OR
2. (A) Profit and Loss Account for the year ending on 31-3-2013 is as follows : 7
. Amount | Amount
Particulars
T <
Gross Profit 16,40,000
Add : Other incomes
Government Subsidy 3,00,000

Profit on sale of plant

(Cost price T 90,000 and
depreciated value ¥ 60,000] 50,000 [ 3.50.,000

Total Income 19,90,000
Less : Expenses
Wages & Salaries 8,40,000
Director’s fees 20,000
Repair expenses 1,40,000
Depreeiation 3,60,000
CGeneral Expenses 70,000
Loss on sale of Investments 10,000
Debenture Interest 40,000
Income Tax 2,20,000
Proposed dividend 1,60,000 | 18,60,000
Net Profit 1,30,000

From the above information you are required to calculate managerial
remuneration as per Sec. 198 of the Companies Act payable by the company.
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(B)

(C)

Answer any one of the following questions :

(1)  What 1s meant by Capital Profits 7 Give five examples of Capital Profits
which may arise in a Joint Stock Company.

(2) Explain the circumstances in which Bonus Shares are generally issued.
Which profits can be used for such an issue ?

(3) Give the disclosure requirement of a Public Limited Company as required
under Revised Schedule VI as notes forming part of Balance Sheet :
(a) Share Capital
(b) Long Term Investment
(¢c) Fixed Assets
(d) Current Liability

Answer the following questions in one or two lines only :

(1)  What is the rate of interest a company has to pay if unpaid dividend is not
credited to a separate account within prescribed time limit ?

(2)  Which methods of depreciation are allowed te be used by joint stock
companies w/s 350 of the Companies Act.

(3) What is the maximum remuneration given to a managing director
according to the Companies Act in case wheré a company is having
adequate profits,

3. A manufacturer sells goods in containers. Information for the year 2013-14 is given

below :

Particulars Quantity
(1) Purchases during the year 1.80,000
(2) Sent to customers 1.50,000
(3) Destroyed containers 600
(4) Sold as Scrap (¥ 3,000) 1,200
(5) Containers in godown (1-4-2013) 36,000
(6) Containers with customers (as on 31-3-2014) (returnable) 30,000
(7)  Relurned by customers 12,000
(8) Containers with customers (as on 1-4-2013) (returnable) 18,000

During the year total purchases were worth ¥ 18,00,000. Rent per container is I 4.
Price is charged by adding 80% to the cost.

Cost of containers for last 3 years is same. Prepare :

(1)
(2)

ZR-103
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3. (A)

On 1-4-2013 Mahavir Traders had Stock of 1,400 containers, the cost of each
container is ¥ 5. During the year firm purchased 2.240 new containers for ¥ 10
each. During the year 16,800 containers were sent to customers and customers
returned 14,560 containers. 56 containers were damaged out of which 32
containers were repaired at a cost of ¥ 1 each. Closing stock after depreciation

was valued at ¥ 5 each. Prepare containers Stock Account. 7
(B) From the following information calculate closing stock with shop and with
customers : +
Particulars Quantity
(1) Purchases during 2013-14 1,20,000
(2) Containers sent to customers during the year
2013-14 2.16,000
(3) Containers returned by customers during the
year 2013-14 1,44.000
(4) Containers retained by customers during the
year 2013-14 54,000
(5) Stock of containers as on 1-4-2013
Stock with shop 72,000
stock with customers 48,000
(C) Answer the following questions in one or two lines only : 3
(1) Name the methods of accounting for packages and containers.
(2) In which method: of accounting for packages and containers 1s Stock
Account not prepared ?
(3) State on which side of container’s Trading Account is the scrap value of
containers shown.
4, On 1™ Jan. 2013 Philips India started Hire Purchase Department. The Hire Purchase
price 18 cost plus 25% profit. The following information 1s regarding first 2 years : 14
Transactions during 2013 3
(1Y Goods sold on Hire purchase (at Hire purchase price) 3,00,000
(2) Cash received during the year 1,50,000
(3) Value of goods returned (instalment not received ¥ 12,000) 3.000
(4) Stock with HP customers (31-12-2013) 1.20,000
ZR-103 13 P.T.O.



4. (A)

(B)

ZR-103

Transactions during 2014 4

(1)  Goods sold on Hire Purchase (at Hire Purchase Price) 4,50,000)
(2) Cash received during the vear 3.00,000
(3) Goods returned by customers (instalments not received

T 18,000) 6,000
(4) Instalments due but not received (as on 31-12-2014) 30,000

Calculate profit or loss for 2013 & 2014 by preparing :
(1)
(2)
(3)

Hire Purchase Trading Account
Goods sold on Hire Purchase Account
Stock Reserve Account
OR
S Ltd. has a Hire Purchase Department. Goods are sold on hire purchase at cost

plus 60% profit. From the following particulars prepare Hire Purchase Trading
Account and compute Profit or Loss for the year ending on 31-3-2014 :

Particulars Amouat
(<)

(1) Goods with customers on 1-4-2013 (Instalments not due) 3.20.000
(2) Instalments due on 1-4-2013 (customers are paying) 20,000
(3) Goods sold on hire purchase during the year (2013-14) 16,00,000
(4) Cash received from customers 11.20,000
(5) Goods repossessed from customers valued at 40% 16,000
(6) Unpaid instalments in respect of repossessed goods 40,000
(7) Goods with customers as on 31-3-2014 (at Hire purchase

price) 7.20,000

From the following information calculate Hire Purchase Sales and closing Hire
Purchase Stock.:

: Amount
Particulars
)
(1) Instalments due in the beginning of the year 30,000
(2) Instalments not due in the beginning of the year 1,20,000
(3) Cost of goods sent (cost plus 50% profit) 2.40.000
(4) Cash received 3.48.,000
(5) Instalments due at the end of the year 60,000
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(C)

Answer the following questions in one or two lines : 3

(1) Name different types of Leases.
(2) Explain the situation in which the transaction is called financial lease.

(3) State two differences between Financial lease and Operating lease.

5. Select the most appropriate answer from the alternatives given : 14

(1)

(2)

(3)

(4)

(3)

(6)

(7)

ZR-103

Which of the following cost formula is permitted under Accounting Standard = 2
for Inventory Valuation ?

(a) LIFO (b) FIFO

(c)  HIFO (d) Simple average

Revenue from subscription for publication should be recognized :

(a) when the publication has been printed

(b) when the publication has been delivered to customers

(c) on straight-line basis total ime

(d) on the basis of sales value of items delivered to customers

Government Grants related to revenue are :

(a) Credited to Profit & Loss Account.

(b) Deducted from the related expenses.

(c) Both (a) & (b) are allowed.

(d) Transferred to revenue reserve.

According to Accounting Standard — 16 relating to baerrowing cost an enterprise
needs to disclose

(a) Accounting policy adopted for borrowing cost

(b)  Amount of borrowing cost capitalized during the period

(c) Both (a) & (b)

(d) Capitalization formula

According to Sec. 208 of the Companies Act for payment of interest out of
capital, the maximum rate of interest is

(a) 5% (b) 4%

(c) 6% (d) 2%%

If the following two items appear in a company’s Trial Balance at the end of the
year.:

12% Debentures (Cr.) T 4,00,000 (issued before 2 vyears) and interest on
debenture (Dr.) ¥ 12,000. Then the current liability of interest will be

(a) T 12.000 (b)y ¥ 24,000

(c) 48,000 (d) Zero

The maximum amount of discount on reissue of forfeited shares can be
(a) 10%

(b) 5%

(c) amount already received on such shares
(d) amount not received on such shares

15 P.T.O.



(8)

(9)

(10)

(1)

(13)

(14)

ZR-103

The balance of Sinking Fund or Debenture Redemption Fund, after the
repayment of debentures, is transferred to

(a) Capital Reserve Alc

(b) General Reserve Alc

(¢) Dividend Equalisation Fund A/c

(d) None of the above

In the preparation of accounts related to packages and containers which account
does not show profit or loss 7

(a) Contamers Trading Account (b) Containers Stock Account
(c) Containers Provision Account(d) Both (b) & (c)

The goods with customers are transferred from stock in shop account
(a) at cost price

(b} at Hire Purchase Price

(¢) at cost or market price whichever is higher

(d) None of the above

In Hire Purchase Trading Account Method the instalments due and unpaid in
beginning and at the end should appear at

(a) Cost price (b) .« Hire Purchase price
(c) Market price (d) None of the above

In a Hire Purchase method if the purchaser is not able to pay the instalment then
the seller can reposses the goods and treat the paid instalments as

(a) Rent of the goods (b)  Revenue profit

(c) Capital profit (d) None of the above

Bonus shares are issued by a company when it wants to pay dividend
(a) by issuing shares

(b) by giving cash

(c) by making partly paid shares as fully paid up

(d) None of the above

The method of accounting for packages & containers depends upon the
following types of containers :

(a) Returnable containers

(b) Non returnable containers

(c) Both (a) & (b)

(d) Partly returnable containers
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(A)
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I. (A) Profit and Loss Account for the year ending on 31-03-2013 1s as {ollows : f)
Pl Am;}unt Am;unt
Gross Profit 16:40,000
Add : Other incomes :
Government subsidy 3,00,000
Profit on sale of plant
[Cost price ¥ 90,000 and depreciated value
< 60,000] 50,000 | - 3,50,000
Total Income 19,90,000
Less : Expenses
Wages and salaries &.,40,000
Director’s fees 20,000
Repair expenses 1,40,000
Depreciation 3.,60,000
General Expenses 70,000
Loss on sale of Investments 10.000
Debenture Interest 40,000
Income tax 2,20,000
Proposed dividend 1,60,000 | 18,60,000
Net Profit - 1,30,000
From  the above information you are required to calculate managerial
remuneration as per Sec. 198 of Companies Act 1956 payable by the company.
OR
From the following information prepare necessary accounts in the books of a
company and show details in company’s final accounts :
(1) Balance as on 31-3-2013 in the Tnal Balance 1s as follows : 7
Dr. Cr.
3 3
(a) Advance tax paid 33,00,000 -
(b) Provision for income tax for
the year ending 31-3-2012 — 15,000,000
9 P.T.O.
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(B)

(C)

(2)
(3)

(4)

Amount of ¥ 21,00,000 included in Advance tax paid is for the vear
2011-12:

Actual tax liability for the year 2011-12 determined is ¥ 22,80,000, the
etfect of which 15 not given in the books of account.

Provision for income-tax for the year 2012-13 has to be made for
T 24,00,000.

Answer any one of the following questions :

(1)
(2)

(3)

What 1s meant by capital profits 7 Give five examples of capital profits
which may arise in a joint stock company ?

Explain the circumstances in which bonus shares are generally issued.
Which profits can be used for such an issue ?

State the appropriate heads of Balance Sheet of a limited company under
which the following items are shown :

(a) Proposed dividend (b)  Goodwill

(c) Preliminary expenses (d) Capital Redemption Reserve

Answer in one or two lines only :

(1)
(2)
(3)

What is the rate of interest a company has to pay if unpaid dividend is not
credited to a separate account within prescribed time limit 7

Which methods of depreciation are allowed to be used by joint stock
companies w's 350 of the Companies Act 7

What is the maximum remuneration given @ a managing director
according to the Companies Act in case where company is having adequate
profits ?

2. Balance Sheets of A Ltd. and B Litd. as on 31-12-2013 were as follows :

: A Litd. B Ltd.
Particulars @) @)
Liabilities
Equity Share Capital
— ¥ 10 per share fully paid up 4.00,000 | 2,00,000
7% Preference Share Captial
— < 10 per share fully paid up 3.00,000 | 1.60,000
Securities Premium 80,000 -
Reserves 52,000 60,000
Creditors 48,000 [ 1,40,000
Profit & Loss Aeccount 1,20,000 40,000
10,00,000 | 6,00,000
Assels :
Gooadwill 2.40,000 | 1.00,000
Plant & Machinery 1,90,000 | 1,000,800
Furniture 20,000 9,200
Investments (18000 shares of B Ltd.) 2.40.000 -
Stock 1,20,000 | 2,60,000
Debtors 1.40,000 | 1,00,000
Cash 50,000 30,000
10,00,000 | 6,00,000
ZR-102 10
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A Ltd. purchased shares of B Ltd. on 1™ July 2013. The balances of Plant &
Machinery, Reserves and Profits & Loss Account as on 31-12-2012 were ¥ 1,12,000,
< 60,000 and T 16,000 respectively. On the date of purchase of shares A Ltd. revalued
Plant & Machinery of B Ltd. at ¥ 1,20,000 but no effect is given in the books. Both the
companies charge depreciation on all the fixed assets at the rate of 10% p.a.
Creditors of A Ltd. includes < 30,000 due to B Ltd. for goods purchased. B. Lid. sold
the goods at cost plus 10% profit. A Ltd. has goods worth ¥ 66,000 in its stock.
Prepare consolidated Balance Sheet of A Ltd. and B Ltd. as on 31-12-2013 :
OR
2. (A) Strong Ltd. purchased 12,000 equity shares of Weak Ltd. on 1-10-2010. The
paid up capital of Weak Ltd. was comprised 20,000 Equity Shares of € 100 each
and 4,000, 8% Preference Shares of ¥ 100 each. The accounting year of both the
companies ends on 31* March. 7
Last three years net profit (after tax) of Weak Ltd. was as follows :
Year Profit
)
2010-11  6,00,000
2011-12  7,00,000
2012-13  8,00,000

During the above 3 years Weak Ltd. declared 10%, 12% & 15% dividend
respectively and strong Ltd. has credited its share of dividend to its Profit & Loss
Account.

From the above information calculate “recorded profit” and “unrecorded profit”
of holding company uw/s 212 of the Companies Act.

(B) Zee Ltd. purchased 90% of the paid up share capital of Tee Ltd. on 1-4-2013 ; 4
The details of Profit & Loss Account of Tee Ltd. were as follows :
Particulars ,eim:unt
Balance brought forward as on 1-4-2013 4,40,000
Profit for the year ending 31-3-2014 2,40,000
6,80,000
Less : Dividend paid
(a) Dividend for the vear ending on 31-3-2013 1,880,000
(b) Interim dividend for 6 months ending on 30-9-2013 90,000
Balance as on 31-3-2014 4,10,000
From the above information calculate the share of Zee Ltd. in the Capital profits
of Tee Ltd.
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(C) P Ltd. purchased 3/5" shares of the total shares of R Ltd. on 1-5-2013. Balance
of Profit & Loss Account of R Ltd. as on 1-1-2013 was ¥ 20.000 (Cr.) and that
on31-12-2013 was T 2,00.000 (Cr.). The average monthly profit of R Ltd. after
the purchase of shares by P Litd. was double the monthly average profit before
the purchase of shares. Calculate the share of P Ltd. in the revenue profit of R
Ltd. Accounting year of R Ltd. ends on 31™ December.

3. X Ltd. and Y Ltd. were carrying on same businesses independently. The companies
agreed to amalgamate on and from [-4-2011 and formed a new company Z Ltd. to
take over the assets and liabilities of the exiting companies. The Balance Sheets of the

Y

two companies as on 31-3-2011 were as follows :

Particulars i A
(%) (%)
Liabilities
(1) Share Capital : Equity Shares of € 10
each fully paid 30,00,000 | 18,00,000
(2)  Securities Premium 6,000,000 —
(3) General Reserve 9.00,000 |+ 7.50,000
(4) Profit & Loss Account 5,40,000.] 4,850,000
(53)  10% Debentures 15,00.000 —
(6) Secured Loan - 9.00,000
(7)  Sundry Creditors 7,80,000 |  5.10,000
73.20.000 | 44.40,000
Assets :
(1) Land & Building 27,00,000 | 13,50,000
(2) Plant & Machinery 15,00,000 | 11.40,000
(3) Investments (15,000 shares in Y Lid.) 2,40,000 -
(4) Stock 15,60,000 | 10,50,000
(5) Debtors 12.30,000 | 7.80,000
(6) Cash at Bank 00,000 | 1.20,000
73,20,000 | 44.40,0040

Additional Information :

(1)

(2) A contingent liability of X Ltd. of T 1,80,000 is to be created as actual existing
liabality.

(3)¢ The shareholders of X Ltd. and Y Ltd. are to be paid by issuing sufficient
number of shares of Z Ltd. at a premium of T 6 per share.

(4) The face value of shares of Z Ltd. is ¥ 10 each.

ZR-102

For the purpose of amalgamation the shares of the existing companies are to be

valued as under :
X Ltd. - ¥ 18 per share
Y Ltd. = ¥ 20 per share
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You are required to

(1) Calculate the purchase consideration (i.e. the number of shares to be issued to X

Ltd. and Y Ltd.)

(2) Prepare Realization Account and Shareholders Account in the books of X Lid.

and Y Lid.

OR

PK Ltd. decided to take over the businesses of P Ltd. and K Ltd. on 31-3-2013. Both

the companies will be paid as follows :

(1)  Amount of Net Assets exclusive of goodwill plus

14

(2) Goodwill — which will be valued at 4 times the difference of 3 years average
profit and 8% of point (1). consideration will be paid by issuing necessary shares

of PK Ltd., the face value of which is ¥ 10 per share.

The Balance Sheets of P Ltd. and K Ltd. as on 31-3-2013 were as follows :

_ P Ltd. K Ltd.
Particulars
) (%)
Liabilities :
Equity Share Capital (Issued & paid up) 1.50,000 | 2,00,000
General Reserve 1.60,000 =
Profit & Loss Account 1.20,000 70,000
Current Liabilities 2.00,000 | 1.40,000
6,30,000 | 4,10,000
Assets :
Goodwill - 90,000
Fixed Assets 4,00,000 | 1,000,000
Current Assets 2.30,000 | 2,20,000
6.30,000 | 4,10,000

Last 3 years profits were as follows :

Year P Ltd. (%)

31:-3-2011 44,900

31-3-2012 51.100

31-3-2013 40,200
Calculate :

(1) Purchase consideration

K Ltd. (%)
22,600
15.500
24.600

(2} Goodwill of both the companies

(3) Balance Sheet of PK Lid. after amalgamation

ZR-102

13

P.T.O.



4. On 1™ April, 2012 Fastrack Motors sold a truck on Hire Purchase at a cash price of
< 9,00,000 to M/s. Jaipur Golden, a firm of transporters. The terms of contract was,
the transporters were to pay ¥ 3.00.000 as down payment and six four monthly
instalments of ¥ 1,00,000 plus interest on outstanding amount of cash price for the
intervening four months. The instalments were payable on 31" July, 30" November
and 31* March in each one of the two accounting years. Interest was calculated at 12%
per annum. 14
M/s Jaipur Golden duly paid the instalment on 31* July, 2012 but failed to pay the
instalment on 30" Nov., 2012. Fastrack Motors, after legal formalities repossessed the
truck valuing at T 7,00,000. It spent ¥ 80,000 on repairs and repainting of the truck and
on 7" January, 2013 sold it for T 7.50,000 cash.
You are required to prepare
(a) M/s Jaipur Golden’s Account
(b) Goods Repossessed Account
In the books of Fastrack Motors
OR
4.  (A) S Ltd. has a Hire Purchase department. Goods are sold on Hire Purchase system
at cost plus 60% profit. 7
From the following particulars draft Hire Purghase Trading Account and
compute profit or loss for the year ending on 31-3-2014 :

. Amount
Particulars @)
(1) Goods with customers on 1-4-2013 (Instalments not
due) 3.20,000
(2) Instalments due on 1-4-2013 (Customers are paying) 20,000
(3) Goods sold on Hire Purchase during the year 2013-14 16,000,000
(4) Cash received from customers 11,20,000
(5) Goods repossessed from customers (valued at 40%) 16,000
(6) Unpaid instalments in respect of repossessed goods 40,000
(7) Goods with customers as on 31-3-2014 (at Hire
Purchase price) 7.,20.000
(B) From the following information calculate Hire Purchase Sales and closing Hire
Purchase Stock. 4
Particulars Amount
(<)
(1) Inmstalments due in the beginning of
the year 30,000
(2) Imstalments not due in the beginning
the year 1,20,000
(3) Cost of goods sent
(cost plus 30% profits) 2.40,000
(4) Cash received 3,48000

(3) Instalments due at the end of the year 60,000
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(C)

Answer the following questions in one or two lines : 3
(1) Name different types of leases.

(2) Explain the situations in which the transaction is called a financial lease.

(3) State two differences between Financial Lease and Operating Lease.

5. Select the most appropriate answer from the alternatives given : 14

(1)

(2)

(3)

(4)

(3)

(6)

ZR-102

According to Sec. 208 of The Companies Act for payment of interest out of
capital, the maximum rate of interest is

(a) 5% (b) 4%

(c) 6% (d)y 2¥2%

If the following two items appear in company’s Trial Balance at thé end of a
year : 12% Debentures (issued before 2 years) (Cr.) ¥ 4,00,000 and Interést on
debentures (Dr.) ¥ 12,000. Then the current liability of interest will be

(a) 12,000 (by ¥ 24,000

(c) T 48,000 (d) Zero

The maximum amount of discount on reissue of forfeited shares will be
(a) 10%

(b) 5%

(c) amount already received on such shares

(d) amount not received on such shares

The balance of Sinking Fund or Debenture Redemption Fund, after the

repayment of debentures is then transferred to

(a) Capital Reserve (b)  General Reserve

(c) Dividend Equalization Fund (d) None of the above

If the Holding Company has received dividend from its subsidiary company

from the profits before the purchase of shares then such dividend is

(a) credited to Profit & Loss Afc. (b)  credited to Investment AJc.

(c) debited to Investment Afc. (d) not recorded in the books.

According to Se¢. 212 of the Companies Act if the financial year of a subsidiary

company and Holding Company does not end on the same date, then the

financial vear of the subsidiary company should end

(a) _within six months before the end of the financial year of Holding Company.

(b within six months after the end of the financial year of the Holding
Company.

(c) within three months before the end of the financial year of the Holding
Company.

(d) within three months after the end of the financial year of the Holding
Company.
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(7)

(8)

(9)

(10)

(11)

(12)

(13)

(14)

ZR-102

While preparing consolidated Balance Sheet of a Holding Company and
Subsidiary Company the share of minority in the share capital of subsidiary
company 1s

(a) shown separately as share capital.

(b) included in the share capital of the holding company.

(¢) 1ncluded while calculating minority interest.

(d) not shown in the Balance Sheet.

When the expenses of liquidation are to be borne by the vendor company then
the vendor company debits

(a) Bank Account (b} Goodwill Account

(c) Realisation Account (d)  Purchasing Company’s Account
A company’s accumulated profit includes

(a) provision for doubtful debts

(b)  Superannuation Fund

(c)  Workmen's Compensation Fund

(d) Workmen's Profit Sharing Fund

If A Ltd. purchases B Ltd. and repays 10% debentures of ¥ 1,00,000 of B Ltd. at
< 1,10,000 then in the books of B Ltd. ¥ 10,000 will be debited to

(a) Debenturcholder’s Account (b) Realization Account

(c) A Co. Ltd."s Account (d) Noneof the above

The goods with customers are transferred from stock in shop account

(a) at cost price

(b) at Hire Purchase Price

(c) at cost or market price whichever is higher

(d) None of the above

In the Hire Purchase Trading Account method the mstalments due and unpaid n
the beginning and at the end should appear at

(a) Cost price (b} Hire Purchase Price
(c) Market Price (d) None of the above

In a Hire Purchase method if the purchaser is not able to pay the instalment then
the seller can repossess the goods and treat the paid instalments as

(a) Rent of the goods (b)  Revenue profit

(c) Capital profit (d)  None of the above

Bonus shares are issued by a company when it wants to pay dividend
(a) by issuing shares

(b) by giving cash

(¢c) by making partly paid shares fully paid up

(d) None of the above
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